
Equation 4-2: A = tJ.erosion/
/ C x ✓2 x 9.8l(H1 - H2)

C 
9.81 
H1 

= 
= 
= 

H2 = Vertical distance between the centre of the orifice and the 
water level downstream of the (m); if the downstream side 
of the orifice is not submerged and is free-flowing, then H2 
= O. 

98. The sizing of a flow contrai device of a non-submerged thin-walled weir type
is established using equation 4-3, in the case of a trapezoidal weir.

A thin-walled weir is a weir made of a thin plate less than 5 mm thick. 

A trapezoidal weir consists of 1 rectangular weir and 2 triangular weirs. 

1 Equation 4-3: Q
ns

= Cd x (L - 0.1 x i x H) x H 3
1z + Cc x (/) x H 5

1z

where: 

Ons = Flow discharged by a non-submerged thin-walled 
trapezoidal weir (m 3/s); 

Cd = Flow coefficient for the rectangular central part of the weir, 

L = 
i = 
H = 
Cc = 

with Cd = 1.81 + (0.22 x H/P), where P= height of the crest 
above the channel bottom or invert or the d ischarge 
chainnel (m½/s); if H/P <0.3, Cd= 1.84; 
Length of the weir (m); for a triangular weir L == 0 m; 
Number of contractions: 0, 1 or 2; 
Height of the runoff curve above the crest (m); 
Flow coefficient for each triangle of the weir; a value of 
1 .38 must be used where tg·1 (0) is between 10 ° and 50° 

(m 1 .5/s); 
0 = Ratio of the horizontal distance and the vertical distance 

of each of the lateral walls; for a rectangular weir 0 == O. 

99. The sizing of a flow contrai device of the thin-walled weir type submerged
downstream must be established using equation 4-4.

1 Equation 4-4: 

where: 

Os = Flow discharged by a submerged thin-walled weir (m3/s); 
Ons = Flow discharged by the non-submerged weir (m 3/s); 
H1 = Height of the runoff curve above the crest upstream of the 

weiir (m); 
H2 = Height of the runoff curve above the crest downstream of 

the weir (m). 




